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B. A. (HONOURS) ECONOMICS 

(BAECH)  

Term-End Examination 

June, 2024 

BECC-111 : INDIAN ECONOMY—I 

Time : 3 Hours     Maximum Marks : 100 

Note : Answer questions from each Section as per 

instructions. 

Section—A 

Note : Answer any two questions from this Section 

in about 500 words each. 2×20=40 

1. Discuss in brief the state of Indian economy in 

the economic planning in India. 

2. Discuss the trends in structural change in the 

Indian economy with regard to national product 

and employment since 1951. 
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3. Analyse the trends in demographic dividend in 

India highlighting the concepts of population 

aging and demographic dividend. 

4. Define the concept of poverty and poverty line. 

Also explain the approaches adopted in India to 

measure poverty. 

Section—B 

Note : Answer any four questions from this Section 

in about 350 words each.  4×12=48 

5. State the five major health indicators. Discuss 

the trends in healthcare financing in India. 

6. Illustrate the Gini’s measure of inequality in 

income. 

7. Distinguish between LFPR and WFPR. How is 

employment measured in India ? 

8. What are the common features that could be 

stated from the historical trends of inter- 

sectoral shares of GDP and employment for 

today’s developed countries and India ? 
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9. Highlight the principal differences in the 

economic growth profiles of India with those of 

China. 

10. Make a comparative profile of CAD between 

developed and developing economics of the 

world. 

11. Differentiate between economic governance and 

institutions for governance.  

Section—C 

12. Write short notes on any two of the following in 

about 100–150 words each : 2×6=12 

(a) Human Development Index 

(b) Malnutrition 

(c) Gender Parity Index 

(d) Growth and Urbanisation 
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